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1- In the right angled triangle, the square of the length of the
hypotenuse equals
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The number of seconds in one minute equals 'i
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1 kg 2kg t—» F

If the two bodies move with a
uniform acceleration on a
horizontal smooth plane under
the effect of a horizontal force
with  magnitude, then the
magnitude of the tension in the
string join the two bodies equals
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A sphere (A) with mass 2 kg
moves in a straight line with
velocity 8 m/sec collided with
another sphere (B) at rest .If the
(A)
collision with velocity 6 m/sec in

sphere rebounded after
the same straight line ,then the
magnitude of the change in
momentum for the sphere (B)

kg.m/sec

bi 8 @l adi aaS ¥ Ll (1) 58
58I ol 13 ¢ AxSla () Al 38

& Al /e Ve yu adlaill ey ()
b ol e et ball G
CeaS L st (@) AN S A4S

</ yia




If a force F acts on a body in a
direction parallel to x- axis so the
body moved in the same direction
of the force a distance S .The
opposite graph shows the force —
distance graph

Arrange the graphs in an

ascending order according to the
work done by the force
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A man of mass 70 kg stand on a
pressure balance fixed on the
base of an elevator moves
downwards with a uniform
acceleration 1.4 m/sec?, then
the reading of the pressure
balance equals
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A body moves starting from a
fixed point in a straight line with
an initial velocity 10 m/sec
such that the algebraic measure
for its acceleration is given in
term of the algebraic measure
for its position x by the relation
a= 2x + 3, then its speed
at x=14m equals m/sec
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The drawing figure represents
the acceleration — displacement | da) 3 - laall Jiaie Jiay a s pall JSA
curve for a body moved in a I REFETPNNEN
straight line with initial velocity S/ ) e A de ey afiue Jad
10 m/sec.

If the body covered 30 m, then
v? equals
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A body of weight 490 newton
moves downward an inclined
plane inclined to the horizontal
by an angle of measure 6 with a
uniform velocity such that tan

0 = % ,then the resistance of the

plane to the motion of the body
equals newton.
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A body of mass 500 gm fall from
the height 4.9 m above the
ground ,then its kinetic energy
when it reached the ground equals
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A locomotive whose power is
504 horse pulls a train whose
mass equals 216 ton. If the train
on a straight road with its
maximum velocity against a
resistance equals 5 kg.wt for
each ton of the mass, then the

maximum velocity of the train in
km /h equals
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A force of magnitude F inclined
to the horizontal by an angle
with measure 8 pulls a body of
mass m placed on a rough
horizontal plane for distance S
with a constant speed I/ .

If the Kinetic Frictional force
between the body and the plane
is u ,then the work done by the
friction force equals
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-1 A simple pendulum the length of
its chord is [ and the mass of its
sphere is m .when the pendulum
starts its motion its chord
oscillated forming an angle of
measure 6 with the vertical ,then
the change of the potential
energy during this displacement
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A smooth ball fill from a height [
on a smooth ground so it
rebounds vertically upwards
.Which of the following graphs
represents the total energy for
the ball and the height
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body is hanged by a string in a spring
balance fixed at the selling of a lift
moving vertically .If the tension on
the string equals 50 kg.wt when it
ascends  with  an  ascending
acceleration of magnitude 2.45
m/sec? find the mass of the body
hanged in the spring balance .If the
lift moves downward with the same
acceleration, find the reading of the
balance in kg.wt.
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A bullet of mass 20 gm is shot
horizontally collide (impact) with a
wooden barrier when its velocity
was 294 m/sec to embed in it for 5
cm find the work done by the
resistance of the wood assuming it
IS constant
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A body of mass 210 gm is placed on a
smooth inclined plane inclined to the

horizontal by an angle whose sine % Af

the body is attached by a light string
passing over a small smooth pulley
located at the top of the plane and the
other end of the string is attached to a
Pan whose mass is 70 gm which
included a body of mass 210 gm on it .if
the set started its motion from rest, find
the pressure on the Pan in kg.wt during
the motion.

If the body is taken away from the Pan
after 7 seconds from the starting of the
motion, find when the set rests
instantaneously?
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A smooth sphere of mass 15 kg moves
In a straight line with velocity 11 m/sec
reached another sphere of mass 24 kg
moving in the same direction with
velocity 5 m/sec and collided it .if the
velocity of the first sphere after collision
became 7 m/sec and in its direction,
find the velocity of the second sphere
just after collision then find the loss of
Kinetic energy due to collision.
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-1 A body of weight 980 newton is placed
on a rough inclined plane inclined to the
horizontal by an angle of measure 60° .If
the static coefficient of friction between
the body and the plane equals 0.75 while
the Kinetic coefficient of friction
between the body and the plane equals
0.5 If a force of magnitude F acts in the
direction of the line of the greatest slope
upward, Find:
a- The force F which make the body
start its motion on the plane upward
b-The force F which keep the body
moving upward.
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A body of mass 1 kg under the effect of
a force F=3T+47 , if the
displacement S is given as a function on
time t by the relation S = (3t2 + )i —
4t7 where 1 and ] are two
perpendicular unit vectors.

If F in newton, S in meter and t in
second, find the work done by the force
F during the time interval [0, t ] ,then
find the power generated after one
minute in joule
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A body of mass 250 gm. moves in a
straight line under the effect of a force
F = (5t —2)T— 4t starting from rest
from a fixed point on the straight line.

If the force F is measured in newton, t
in second, find the velocity vector in
term of time, then find the displacement
after 3 seconds from the starting of the
motion.
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| A train of mass 49 ton moves with a
uniform velocity on a horizontal straight
road and the magnitude of the resistance
of the road against it equals 750 kg. wt.

If the engine of the train stopped, find
the decreases in its kinetic energy in
joule after covering a distance 1 km
assuming that the resistance is fixed.

If the Kinetic energy of the train at the
end of this kilometer equals 245 x 10*
joule, find the power of the engine
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